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P(A)=n(A)/n(S)=3/6 =0.5
P(B)=n(B)/n(S) =3/6 =0.5
P(C)=n(C)n(S)=5/6 =0.8333
P(D)=n(D)/n(S)=1/6 =0.1667
P(d)=n(d)/n(S) =0/6 =0.0
P(S)=n(S)/n(S) =6/6=1.0




YY VY SR (s

udigl] gluasy)

day) 1) Alda pall- A ilaal) Autigl) acid

4_1.‘|.1le elia 8 3 _alic 33 £ -'L...n_).ﬂ'l 4 glia =L1_).1.J'I J_ghﬂ'l dxlad (323 4 s é'm ,'_jl Y

PN sl O laal Ja asas. n(S)=4

asalall paliall 22c syl
A ={(HH).H.T)} nA)=2 P(A)=n(A)n(S)=2/4=0.5
B={(T.H).T.T)} nB)=2 P(B)=n(B)n(S)=2/4=0.5
C={HH).HT).TH); n(C)=3 P(C)=n(C)/n(S)=3/4=0.75




